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Name: Homework
Topics: Sum of interior angles of a triangle, isosceles triangle theorem, vertical angles, complemenetary angles,
supplementary angles

) Every equilateral triangle is equiangular,
TRUE) FALSE

2)  Every equiangular triangular is equilateral. 5)
( IRUE ) FALSE

3)  The base angles of an isosceles triangle are
congruent. @; FALSE

Questions 4 and 5 refer to the following:

Use the information in the figure to state whatever -

conclusions you can about unmarked sides and anglesin | Questions 6 through 8 refer to the following:
the figure.

C
B 1|2
4) 8 8 3|4
A D B
70° ¢
Q R

6) AABC equilateral CB =10, ms 1 = 30°, and C
CD is the median to AB. What is the mZA?

O
A) 30° @ co° © '
B) 90 D) 45 A
————-—{:%O :{@ A (W ~
7)  InAABC,ifAC=CBand m/A = 80°, what is
the mZB?
& so° C) 20°

B) 40° D) 120°




8) InAABC,ZA=/C IfAB=5x+ 8 and
BC = 3x + 16, find the vahe of'x,
Y 2l DATE
el ~ 3K )
(o7 2X+ &
e e
HXe B o &’A Ix L—, l

9) InAPQR,ZQ= /R. TFPQ = Tor - 14,
PR =2x + 50, and ] RQ 4x - 30, find the value
0 of x. ot Mgcdﬁd

u 2%+ D0 (3%~ U = 2 X4 DO

-2 A ~ZX

EA-14 2 B0

bl o
EA A [ X=6
& &

The measure of'a base angle of an isosceles triangle
is 4 times the measure ofthe vertex angle. The
number of degrees in the vertex angle is

A) 36° & 20°
B) 30° D) 135°
XtdxrUx= 180

Q

10)

£ x)

o

U EC X

Each base angle of an isosceles triangle is 15 more
than the vertex angle. What is the measure of the
vertex angle?

11)

A) 30° C) 70°
. 50° D) 55°
Xt Xt (DEXF (D IEC
EYSECHI e
20 50
Questions 12 and 13 refer to the following: X0
\ 2
X=80
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12) Tfm/CBD=20° and m/DBE = 45°,
find mZ EBC.
ARt ZLD‘f'LlE’):[@@j

7
i) .
13)  IfmeBBC = 60° and m EBD = 40°,
find m<DBC.
AA .
X+U0= O
-4y HO

lxrzdl

Two congruent angles are supplementary. The
measure of each angle is

A) 60°
B) 180°

14)

C) 45°

90°
X+ X=1E0
2780 |x-90 k
ZAand ZBarec omglezlilentary and the measure of
ZB is 2 more than three times the measure of ZA.
Find m/B.

LA X
L P 28 DX
2%5(.22

Z5 e o k22

16) Two complementary angles have measures in the
ratio 2:4. What is the measure of the larger angle?

15)

A) 120° € o0°
B) 30° D) 80° o

axsbx I Heey{eo |

<= X=1D

17)  The measures of two supplementary angles are in
the ratio 2:7. Find the measwre of the smaller angle.
Ay 70° C) 20°
& 40° D) 90°

X+ TR EC —

ax- 180 2020)7HC |
a G

X=20



Questions 18 through 25 refer to the following:

In the dlaglam below, XG and EN intersect at A,
ML XG and mZGAN = 20°.

18)  Find mcEAX.

20

19)  Name a pair of vertical angles.

LEAXRZ LGAN

20}  Name two right angles.

IMAG  LMAX

21) Name a pair of adjacent angles. A\nex - 4o A&

ZXAE s.—'éu\M
e
g

L EAM MAG

oy

—

LMAG E<GAN
cL

CGAN € ZNAX
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122} Name an acute angle.

ZXAE oy ZEAM o ZGAN

23) Name an obtuse angle.

ZXAN

24)  Find the measure of the complement of ZEAX.

X +2C- S0

“2C 2

25)  Find the measure of the supplement of ZEAG.

204+ X =10
20 20
| K- eo
26) Inthe accompanymg diagram, AB L BC
MH}LCBE x°, m/DBC = - =p° and
mZABD = z°
)
A
C
/]
z
) X
B E
Which statement nmust be true?
A) v=x+tz C) y=z
B) x=y @ x=z
Z*Y /1X



27y Inthe accompanying diagram, BD L ABC at B and
BE 1 BF atB.
A
E ¢D
qo-20= 1
4\ ;
-~ TO 20° N
T A B [

IfmZFBC = 20°, what is msEBD?
@ 20° C) 90°
B) 70° D) 110°

qov‘loﬁ)__ff

Questions 28 through 30 refer to the following:

In the diagram below, QTJ 1 PS.
A
Q
R
4
B [3l/5 R
P 2 s
VG
11
T
u
v

28)

29)

30)
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Ifmsl =40°, find mz2.

L4 £2=-490
O+ X =40
_LEO

40O

X0

Ifms2 =60°, find meTVQ.
L4 LA LT\/Q
o+ A=< TVQ

(50 - <TVG

Hms2=0x+16)° and mz5 = (4x + 1)°, find
the value‘ofx.

xvertcal angles X

22X+ o UXF |
N X
oA+ |

-\ _



